Lab Quiz Trophic Effects Algae/Brineshrimp, 10 pts                		NAME______________________________

1. (1 pt)  What is an appropriate control for the Artemia/Platymonas experiment?

[bookmark: _GoBack]A:  Platymonas growing without brineshrimp


2. (1 pt) What is the purpose of using the spectrophotometer?
A:  Estimate algal population density

3. (1 pt)  In the context of the Artemia/Platymonas experiment, explain events that might leave to bottom-up impacts on the ecosystem dynamic.
A:  (answers may vary) if there is a lack of sunlight, Platymonas won’t grow, therefore brineshrimp cannot survive

4. (2 pts)  If you have a stock solution of 98,000 cells/mL and you require 100 mL of a 2,000 cell/mL solution, how could you prepare it from the stock solution?  Show all work.

A:      (2,000 cells/mL* 100 mL)  / 98,000 cells/mL =  2.04 mL stock solution

	100 mL – 2.04 mL = 97.96 seawater

	Add 2.04 mL of stock solution to 97.96 mL of seawater.

5. (1 pts)  Using the standard curve illustrated, how many cells of Selenastrum (an algae) would be present if absorbance was determined to be 0.07?
                       A:     1.75 X 10^6 or  1,750,000 cells                     [image: Image result for algae cells standard curve]


6.  (1 pt) 	       If tcritical is 2.5 (p=0.05) and tobserved is 2.8, is the null hypothesis supported or rejected?
A:  rejected
7. (1 pt)  Explain why treatment replications are needed.
A:  (answers may vary)  Assures valid, reliable results.

8. (2 pts)  Explain pros and cons of applying the results of this experiment to trophic cascades in a natural setting.  Use examples.
A:  (answers may vary)  In nature, trophic cascades may be more complex, for example if a predator (crustacean) feeds on multiple prey (algae), it may not impact one algal population so dramatically.  It was beneficial to keep most variables in the experiment constant (temperature, light, etc.) however in nature it is unlikely to be so consistent.
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